
fayy G - AEC- KHORTHA 

fsC - 02 

gOÉ-2 

3. 30# faHIH 
qUg 'F: arg3 9A� 1 X5 = 05 30c5 

hi 34 - 50 

Ik-o4-2024 

(aIEY Tert - 50) 

(GhfaE-01) 

(shfae-o1) 

qug T: Ef By yeT 15 X3 = 45 3i (EH gUg iia yt À 



fay S � MN-2A (Minor from Vocational studies/Discipline) 

04 

3. 3ja fay 

2. 1y grY YT 

qug T -

1X 5= 05 3jc5 

5X2 = 10 3jc5 

100 

(GT�Y TAT 75 30h) 

(aofae-o1) 

(hfe-o1) 

(Gofae-o1) 

3TY Y 15 X 4 = 60 3/cp (sH qUg 3: t À 



faqy lG � MN-2B (Minor from Vocational studies/Discipline) gei H6 - 100 

sc- 04 

gOIÉ 2 

gHlS 3 

3. 3j5 fajT 
- 1. Ggt3 y 1X5= 05 3/c5 

2. GTR0r YT 5X 2 = 10 3jp 

ele4l24 

(AT�y veAT 75 36) 

(afs-o1) 
(fae-01) 
(ofse-01) 
(Gofae-o1) 



{ "type": "Document", "isBackSide": false }


{ "type": "Form", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

